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+1	
  par	
  réponse	
  juste,	
  -­‐0,5	
  par	
  réponse	
  fausse,	
  0	
  pour	
  non	
  réponse	
  

Plusieurs	
  réponses	
  possibles	
  parfois	
  
	
  

«Plus	
  le	
  prix	
  d’un	
  produit	
  augmente,	
  plus	
  les	
  quantités	
  	
   q	
  offertes	
  q	
  demandées	
   seront	
  faibles.	
  
«	
  Si	
  l’offre	
  s’accroît	
  et	
  que	
  la	
  demande	
  reste	
  identique,	
  le	
  prix	
  a	
  tendance	
  à	
  augmenter.	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Demandeur	
  est	
  synonyme	
  d’acheteur.	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  q	
  Vrai	
  	
  	
  	
  	
  q	
  Faux	
  	
  	
  	
  	
  q	
  Je	
  ne	
  sais	
  pas	
  
«	
  La	
  courbe	
  représentant	
  la	
  demande	
  est	
  une	
  fonction	
  	
   q	
  décroissante	
   q	
  	
  croissante	
   du	
  prix.	
  	
  
«	
  Lorsque	
  la	
  demande	
  est	
  durablement	
  	
   q	
  inférieure	
   q	
  supérieure	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  à	
  l’offre,	
  le	
  prix	
  a	
  tendance	
  à	
  augmenter.	
  
«	
  Selon	
  le	
  modèle	
  du	
  marché,	
  l’instauration	
  d’un	
  prix	
  plafond	
  à	
  ne	
  pas	
  dépasser	
  engendre	
  un	
  excès	
  de	
  demande	
  par	
  rapport	
  à	
  l’offre.	
  

q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
	
  
«	
  Lorsque	
  le	
  prix	
  d’un	
  produit	
  diminue,	
  cela	
  signifie	
  souvent	
  que	
  :	
  
q	
  L’offre	
  est	
  supérieure	
  à	
  la	
  demande	
  	
  	
  q	
  L’offre	
  est	
  inférieure	
  à	
  la	
  demande	
  	
  q	
  Ce	
  produit	
  est	
  rare	
   q	
  Ce	
  produit	
  est	
  abondant	
   	
  
q	
  Aucune	
  de	
  ces	
  réponses	
   q	
  Je	
  ne	
  sais	
  pas	
  
	
  
«L’hypothèse	
  de	
  la	
  «	
  main	
  invisible	
  »	
  du	
  marché	
  implique	
  que	
  :	
  
q	
  Le	
  marché	
  s’autorégule	
  
q	
  L’Etat	
  doit	
  intervenir	
  telle	
  une	
  «	
  main	
  invisible	
  »	
  pour	
  corriger	
  les	
  défaillances	
  du	
  marché	
  
q	
  Le	
  marché	
  accroit	
  les	
  inégalités	
  
q	
  L’intervention	
  de	
  l’Etat	
  sur	
  les	
  prix	
  est	
  néfaste	
  
q	
  Aucune	
  de	
  ces	
  réponses	
   q	
  Je	
  ne	
  sais	
  pas	
  
	
  
«	
  L’hypothèse	
  d’homogénéïté	
  du	
  produit	
  signifie	
  que	
  tous	
  les	
  agents	
  du	
  marché	
  sont	
  price	
  taker.	
  

q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Homo	
  œconomicus	
  est	
  asocial	
  et	
  amoral.	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  q	
  Vrai	
  	
  	
  	
  	
  q	
  Faux	
  	
  	
  	
  	
  q	
  Je	
  ne	
  sais	
  pas	
  
«	
  En	
  cas	
  d’externalité,	
  le	
  renforcement	
  de	
  la	
  concurrence	
  est	
  efficace.	
  

q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«Le	
  phénomène	
  économique	
  de	
  «passager	
  clandestin»	
  survient	
  :	
  
q	
  Quand	
  le	
  bien	
  est	
  rare	
   q	
  Quand	
  le	
  bien	
  est	
  abondant	
   q	
  Aucune	
  de	
  ces	
  réponses	
   q	
  Je	
  ne	
  sais	
  pas.	
  
	
  
«	
  Cochez	
  :	
  

	
   Rival	
   Non	
  rival	
   Excluable	
   Non	
  excluable	
  
L’eau	
  en	
  bouteille	
  	
   	
   	
   	
   	
  
L’eau	
  bue	
  à	
  la	
  cantine	
  du	
  lycée	
  Fustel	
  	
   	
   	
   	
   	
  
Les	
  abeilles	
  sauvages	
  dans	
  les	
  Vosges	
   	
   	
   	
   	
  
Un	
  voyage	
  en	
  avion	
   	
   	
   	
   	
  
Le	
  sapin	
  de	
  Noël	
  de	
  la	
  place	
  Kleber	
   	
   	
   	
   	
  
Le	
  réseau	
  routier	
  français	
  (hors	
  autoroutes)	
   	
   	
   	
   	
  
Les	
  autoroutes	
  françaises	
   	
   	
   	
   	
  
Le	
  cours	
  de	
  SES	
  sur	
  Toile	
  SES	
   	
   	
   	
   	
  
Le	
  cours	
  de	
  SES	
  en	
  salle	
  146	
   	
   	
   	
   	
  
	
  
«	
  Reliez	
  :	
  	
  
Une	
  coupe	
  de	
  cheveux	
   �	
  
La	
  forêt	
  amazonienne	
   �	
   	
   	
   �	
  Bien	
  (ou	
  service)	
  privatif	
  
Une	
  autoroute	
   	
   �	
   	
   	
   �	
  Bien	
  (ou	
  service)	
  club	
  
L’éclairage	
  public	
   	
   �	
   	
   	
   �	
  Bien	
  (ou	
  service)	
  commun	
  
Des	
  bonbons	
   	
   �	
   	
   	
   �	
  Bien	
  (ou	
  service)	
  collectif	
  
La	
  couche	
  d’ozone	
   	
   �	
  
	
  
«	
  On	
  observe	
  habituellement	
  une	
  surproduction	
  de	
  biens	
  à	
  externalité	
  :	
  

q	
  Positive	
  	
  	
  	
  q	
  Négative	
  	
  	
  	
  q	
  Les	
  deux	
  	
  	
  q	
  Aucune	
  de	
  ces	
  réponses	
  	
  q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Les	
  externalités	
  négatives	
  ne	
  peuvent	
  être	
  limitées	
  que	
  par	
  la	
  réglementation	
  (la	
  loi).	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Une	
  taxe	
  est	
  une	
  incitation	
  qui	
  permet	
  de	
  limiter	
  la	
  production	
  d’externalités	
  positives.	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Un	
  brevet	
  permet	
  d’internaliser	
  l’externalité	
  qu’est	
  la	
  connaissance.	
   	
   	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Taxer	
  les	
  entreprises	
  qui	
  polluent	
  revient	
  à	
  internaliser	
  l’externalité.	
   	
   	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
  
«	
  Une	
  bulle	
  spéculative	
  ne	
  peut	
  se	
  former	
  que	
  sur	
  un	
  marché	
  d’actif.	
   	
   	
   q	
  Vrai	
   q	
  Faux	
   q	
  Je	
  ne	
  sais	
  pas	
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